ORR Notes - Socialism 





	Socialism has its roots in the French Revolution. This is because the French Revolution posed the social question of a rational reorganisation of society on hitherto unknown lines. The development of this new doctrine was the work of many Frenchmen, including St Simon, Fourier and Louis Blanc. The result was the development of two ideas within socialism after 1848 - these were Marxism and Anarchism.





Karl Marx





Born in Trier, in the Rhineland, of middle class Jewish parents, in 1818.


A liberal until 1843, he met working class socialists such as Engels when he moved to Paris in that year. 


1845 left Paris a dedicated socialist interested in economics and the nature of history. Developed ideas of economic change causing historical change and internationalism of socialism. 





	In 1848 the Communist League commissioned Marx to write a Manifesto to be published in England and Germany. Marx claimed that:





1) All history is the history of class struggles, the theory of which he called Historical Materialism.





2) There existed a huge gulf or wealth gap between the middle class owners of capital and the workers who owned nothing but their own labour. This gulf was growing rapidly. 





3) He claimed that this gulf would lead to increasing crises within the capitalist system, each causing more unemployment and famine until the entire system of capitalism would finally be overthrown. 





(Q): ‘What the bourgeoisie produces above all is its own gravediggers. Its fall and the victory of the proletariat are equally inevitable ... The proletarians have nothing to lose but their chains. They have a world to win. Workers of the world unite.’


						(Page 1 - The Communist Manifesto)





In July 1849 Marx was expelled from Germany, refused to permission to live in Paris, and therefore had to move to London, where he stayed for the rest of his life. 





	Part of the reason for this was Marxs’s personality. He never respected another person’s arguments if they differed from his. He has been described by Schurz, a contemporary who later became an American Senator: (Q): “What he said was weighty, logical and clear but never have I met a man of such offensive, insupportable arrogance.”





1850’s were a bad time for Marx. Living in poverty in Soho only three out of seven children survived and only Engels remained his friend, publishing his articles for him. 





	Despite this, the 1850’s was the period in which Marx formulated the theory behind the Communist Manifesto into his great work Das Kapital, published in 1867. At the same time, Marx was imposing his views (and dismissing those of others) on the European socialist movement. 





September 1864 the International Working Men’s Association was founded in London with delegates from France, Switzerland, Italy, Germany and Britain. 





	The 1860’s marked a significant break with the reactionism of the 1850’s. The widespread support for the Polish Revolt and the Emancipation Proclamation of Abraham Lincoln appeared to give new life to the struggle for democracy. 


	


	Marx at this point operated with tact, gaining a dominant position in the First International by directing operations behind the scenes and drawing up the rules. He did however take strong exception to the Proudhonists (Anarchists, see below), who were according to him ‘mere windbags’. This started a conflict between the two major movements in the International.























Anarchism 





	Pierre Joseph Proudhon was born in Besancon in 1809. 


	Parents working-class, mainly self-taught. 


	Interests social and political - 1840 published pamphlet ‘What is Property?’





	Proudhon asserted in the pamphlet he wrote on ‘What is Property?’ that ‘Property is theft’. He argued that property was the cancer at the heart of society, not a natural right. In its place should be complete equality of reward. 





	Proudhon also claimed that centralised government was a tyranny which must be broken by the workers and the bourgeoisie by organising syndicates which they would control and manage. 





	These syndicates would then be the basis of a new society in which people would rule themselves in a system of non-government or anarchism. 





	This would set up a federational system of small communities running their own affairs with little or no central administration. 





	This also meant that with the abolition of property of government, men would be free to develop the best part of their nature. 





Anarchism and Marxism - the struggle to define socialism





	Proudhon’s influence spread through the work of Michael Bakunin, son of a Russian country gentleman, who had come to Paris in 1848 as a professional revolutionary. He wanted to destroy the Austrian Empire and create a free federation of Slav peoples, later being imprisoned in Siberia for four years for his beliefs. 





	He looked at the arguments of Marx and Proudhon, and decided that Proudhon was correct. Accordingly he declared war on all institutions - the state, capitalism and religion - which he believed were obstacles to human growth, and founded the International Alliance for Social Democracy. 





	Marx feared Bakunin’s inspiring presence as a speaker, and dismissed his programme as empty rigmarole. Their differences can be summed up as follows:





While Marx wanted an organisation to capture political power, Bakunin worked for a loose federal organisation to stimulate insurrections and thus dissolve authority. 





Marx saw no future except in the capture of the state and the setting up of the dictatorship of the proletariat after which he believed the State would wither away. Proudhon and Bakunin detested the whole idea of a centralised state, and aimed at extreme decentralisation and democracy. 





	Bakunin ridiculed Marx as (Q): ‘a state worshipper, triply so, as a Jew, a German, and a Hegelian.’





Marx and Bakunin also disagreed about which classes were the right classes to cause revolution. Bakunin believed that true revolutionaries could only be those with nothing to lose, for example the landless peasants in Italy, Spain or Russia. Marx on the other hand maintained that the industrial proletariat in advanced societies were the necessary prerequisite for a successful revolution. Bakunin countered this by arguing that this class already had a stake in the economic benefits of economic progress and therefore would not be tempted by revolution.





Marx’s belief that industrialisation and a middle class revolution should precede the proletariat revolution meant that he had far less support than Bakunin in countries where there was little in the way of industrialisation, such as Italy, Spain or Russia. Bakunin found these regions very enthusiastic, especially the serf labourers of Andalusia in Spain and the textile workers in Catalonia. 





Bakunin was also more radical than Marx in his advocation of the use of violence to sweep away existing institutions, an act which would lead to the the regeneration of the political of ordinary people. He said that this anarchy must be started by a group of young, educated people, who would then inspire the people to acts of terrorism of revolution. This need for an elite to help the path of the revolution is similar to Marx, and marks one of their few points of consensus. 





	Personally the two leaders also loathed each other, partially because Marx refused to tolerate any rival in the International movement. Marx dismissed Bakunin as ‘a Mahomet without a Koran’, who by adopting the ideas of Proudhon without fully understanding them only spread confusion within the socialist movement. Marx was also of course a German, and his dislike of Bakunin’s pan-Slavism was a key element in the mutual antipathy.





Basle Conference of International - Marx and Bakunin argument becomes public.


1872 Marx manages to have Bakunin expelled from the International.





	Rather than marking a Marxist victory, 1872 really marked Marx’s failure to gain control of the whole of the International socialist movement. This proved the end of the First International, and also the end of anarchism, gradually deteriorating from an understanding of Proudhon’s ideas by the 1870’s. 





	Marx himself was a broken man after 1872. Hopes of a German revolution had been dashed by the victories of Bismarck and his health broke down through liver disease. 





Germany





	Due to the strong reactionary forces in Germany, socialism was on the defensive, and so Marx attempted to build up a strong working class party. He resented the influence of Lassalle, because Lassalle believed in co-operating with Bismarck. Marx therefore sent his colleague Liebknecht to form a separate socialist party organised on Marxist lines. He was furious when in 1875 the two groups ignored him and merged, forming a single German Social Democratic Workers Union. Failing to see the value of the new party, he believed that Liebknecht had betrayed him. 





	Karl Marx remained in London for the rest of his life, enduring the deaths of his wife and eldest daughter before his own death in March 1883. 





Marx’s Importance





	Engels speaking of Marx at his funeral at Highgate Cemetery, London: 		(Q): 	“As Darwin discovered the law of evolution in organic matters, so Marx 		discovered the law of evolution in human history.” 





 	It was Engels who really made Marxism a rigid scientific doctrine analogous to the scheme of Darwinian evolution. Based on Das Kapital, ‘orthodox Marxism’ was spread by Engels until his own death in 1895.





	Marx has influenced European thought upon almost every level, ranging from his doctrine that all historical changes can be explained in terms of economic causes to his doctrine of the class struggle and of the inevitable triumph of the working class. This is of course immediately appealing to industrial workers. 





	From Hegel Marx received the idea of history moving on a predestined course, but Marx believed that change resulted from economic factors rather than Hegel’s vision of innovating ideas. Marx claimed that at each stage of the historical process, changes in the names of production caused a new class to take over. 	





	For example, the feudal aristocracy would make way for the bourgeoisie and in time the bourgeoisie would have to make way for the people. Once these people or proletariat gained power, social justice would reign and the political authority of the State, no longer required, would die out, leaving Man free of his institutional bonds.





	This process of revolution would be inevitable for the following reasons:





1) In a fair society workers would receive in payment for its labour the equivalent of that labour in goods and services. (Marx called this the labour theory of value.) 


	This did not occur in capitalism as employers kept hours long and wages low, with the employer taking the surplus in the form of profit.


	Clearly the more profit the employers made at the benefit of the workers, the more the workers would resent the employer until finally they would take action. 





2) As industrialisation continued, small firms would be driven out of business and power centralised in the hands of a select few. The lower class (now joined by the newly indigent middle class) would now find there to be a crystal clear issue of class conflict. 





3) Capitalism would also fail to work as commercial crises would occur constantly, each one worse than the last because of the effects of competition for profit. This would lead to economic anarchy - the boom and bust cycle. The catastrophic slumps would increase in severity until capitalism broke up. The closest this has come to being true so far was the Wall Street Crash. 





	Was Marx right? This continues to be a matter of the fiercest debate. There are other factors in history other than economics; human error, religion, geography or even sheer luck. It really cannot be argued that history is on a predestined course. 





	Marx made some errors. For example he believed that individuals would usually stay loyal to their own class. In fact, groupings in society do not correspond to Marx's ideas of class solidarity, as the failure of the Second International in Germany showed on the eve of the First World War, when the socialist parties put aside their class hatred, preferring instead to embrace nationalism and fight for their countries rather than their class. 





	Economically, Marx's ideas also need to be re-examined. His theory of surplus value neglected to mention the hidden costs of production such as administrative costs and interest payments which absorbed much of the employer's profits. Furthermore Marx refused to credit the role of the entrepreneur himself as a risk-bearer, and therefore profit as his reward for the risk. Moreover, the lot of the worker in the factory was already improving, as government measures for reform gradually began to take effect. 





	The inevitable revolution of the proletariat has also been distinctly lacking so far in the history of Western Europe, where instead mixed economies of private enterprise and state socialism have flourished. Russia and China instead have created proletariat revolutions - without Marx's prerequisite of a bourgeois industrialisation. 


The state in these countries has not withered away as Marx planned after the dictatorship of the proletariat was assured. Instead it has led to new forms of totalitarian government.


	


	Despite all the flaws inherent in Marxist thought, the power of the system, the lure it offers to the working class, and the inevitability of the class struggle combine to endow Marxism with almost religious fervour. It became a cast-iron certainty that even the stars in their courses were promoting the victory of socialism. 





Syndicalism





In 1900 a new movement emerged in socialism, descended from Anarchism. This was Syndicalism, a word meaning from the French Syndicat or Labour Union.





	Syndicalism was a protest against moderate socialism, a return to the violent 'libertarian' policies of Proudhon against government institutions.	


 	


	Syndicalists argued that the emancipation of the workers could not be won by parliamentary action but only through direct action to paralyse the economy through using sabotage and strikes. Unions should organise militant lines, organising a general strike which would then destroy the whole capitalist system.


	


Main leader in France Georges Sorel. Became a revolutionary after 1871 as sickened by the materialistic Third Republic in France. 


Wrote book 'L'Avenir socialist des syndicats' in 1893 in which he put forward his philosophy that history is made by spontaneous movements which arise periodically in the masses. Syndicalism was one such movement. 


Sorel became involved in Italy between 1903-10, demonstrating the need for catastrophic revolution through revolutionary syndicalism, and helping to foment the general strike in 1904. Gaining ground, his views caused Filippo Corridoni to form a anarcho-syndicalist group and influenced the rise of Gramsci. Mussolini too learned from him the ways and means of applied violence. 


Syndicalism was even more successful in France, with the Confederation Generale du Travail or CGT adopting a militant line in 1906. 


In Spain a federation of syndicalist unions, the Confederacion Nacional del Trabajores (CNT) was founded in 1910 - by 1918 it possessed over one million members. 





	Despite the great growth of syndicalism, most of the socialist parties in each country looked mainly towards strengthening their parliamentary positions. Marxist in inspiration as most were, there were major disputes over both doctrine and tactics. 





Revisionism





	Many socialists were worried by the continued progress of the capitalist system despite Marx's prediction of imminent collapse. 





1899 Edouard Bernstein wrote 'Evolutionary Socialism' .





	Bernstein argued that clearly new tactics needed to be used in order to gain reform as capitalism still remained healthy. He argued that socialists should work within the elective system, using democratic processes to further useful, if piecemeal, reform.





	This revisionism was attacked by a man called V.I. Lenin, in his book What is to be Done? He insisted upon the need for a revolutionary elite, condemning the revisionists for their parliamentary tactics. In Germany, Bernstein was attacked by Bebel, Rosa Luxemberg and Kautsky, whilst in France the revisionist Jean Jaures was in turn critised by Guesde, and in Russia Lenin and Martov broke apart over their conflicting definitions of what the nature of the party should be, Gradualist or Revolutionary. 





	In fact, most countries pursued revisionist tactics whilst paying lip service to the Marxist belief in the class struggle and the inevitability of revolution. Ironically, the refusal to become a totally reformist movement made their revisionist attempts to work within the system almost untenable, in view of the continuing hostility of the ruling classes towards revolutionary Marxism. 
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